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aueumL (Ylemau(homm @ héEED erer erdliunissiiu@GEns) SECTION A — (10 x 2 = 20 marks)

Qrrés QunFDSET
26 | Quisdyb A | Guipbdyn B

Answer any TEN questions.

€. €. ‘ | 1. Whatis Busiﬁess Finance?
1 40,000 1,20,000 SUgN b Fa DT e eni?
2 1,20,000 1,60,000 2.  What is meant by financial planning?
3 1,60,000 2,00,000 A S8l e erampmed ereme?
4 2,40,000 1,20,000 _ 3.  Define Risk and Return.
5 1,60,000 . 80,000 QL LHHID QUBEITL CUETLIED.
Blpeuard  10%  epasarsder  SsTar  cuGeuredL  @QOESTHE 4.  Give the meaning of cost of capital.

Qararereng. @sen 2gluuamlwed @Quibdlrhsafle @rusams

euArQuurisg, aps @Qubfrd 6F FHurs A@mbuSssssTES
& (@1 B Taseim 2 '

povgears Gamailer QUTmET S(Hs.

. . 5.  What do you mean by retained earnings?
@Miy : Gemeumbd i Leuaent . 1 @er sHCUTasW Wwdlienu

Qanhéfpg. N’ sarBsafe Qeayss Ceusmiy iamal.
2b @ (b 1 2 3 4 5 . 6.  What is Theory of irrelevance?
9.6, smrenll @ 10% | 0.91 | 0.83 | 0.75 | 0.68 | 0.62 QAurssopp Camur@ ererpd crerer?

SEGEE@USSHLILIL L GU(HEUML GTETMTE) GTebTes ?

7. What is dividend?

reySLFTans GTEmITed ETeiTen ?

8.  What do you mean by financial leverage?

HS smest 2bmed eremmmed erevie ?
9.  What is cash management?
G]r}rré;é; CameiTend GTETDITed GTebten ?
10. What is meant by working capital analysis?
QFudpED POSET LIGLILITIIG GTEMDTED GTET6 ?
11. What is Net Present Value?
Blar sHGurengw AL eTerer?
12. Define capital budgeting.
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13.

14,

15.

16.

17.

SECTION B — (5 x 5= 25 marks)
Answer any FIVE questions.

‘Explain the types of financial decisions.

BE wiyesafler cuamssmen cflars@s.

Mr. Manoj invest Rs. 1,00,000 in bank at 10% for 5 years.
Calculate the maturity value if interest is compounded annually.
Will he get more if interest is compounded half-yearly?

&mp. wGarmgy eTerLIGUT 65.1,00,000. 5 YETHSEHESE 10% cunidlufed
Wwedh Qendlprr. sl @  alyg  popudd  pard  eully
sarsd_Lu@b Gurpg Seurg ey AsTams eTeucuerey eraTUMS

‘Gsams(Hs. euligulerar DUy D@ erar gl B el ly papuied

SEUEELLTD  SjeuBsG UL@IETaETE  @BEGSLT  eTeTLanS
QzMell&saib. . '

A company offers for public subscription equity shares of Rs. 10
each at a premium of 10%. The company pays 5% of the issue
price as underwriting commission. The rate of dividend expected
by the equity shareholders is 20%. You are required to calculate
the cost of equity capital.

Will you cost of capital be different if it is to be calculated on the
present market value of the equity shares, which is Rs. 15?
Blpicuand @em Seg STSTIENT LRIGSEEr LIkiE Qe epumil 10
aisb 10% aanngded GUTELESEESE QauefWGdng Hneeab
Qarafli @ eNewauder 5% Qeuafuir @ sfleurs Csssfng.
NI LBIGSTIigEenTd erdiuméstiu@hn  re|stsreans eldsb
20% Y. ungselear ghGummsw sbamg WHOL @ 15. LBIG
apogarsdlen allenoarw Brisar samsdlLaib.

Rajesh Ltd. earns a profit of Rs. 5 per share. The rate of
capitalization (k) is 12% and the productivity of retained
earnings (r) is 10%. Using Gordon’s model determine the mafket
price per share if the payout is (a) 20% (b) 40% and (c) 60%.
rrGmas Flpeuarnd LG @ambE e 5 omub FUOHDS. @
LUBGSEE — apogarownrssd  lfsd (k) 12% whHmid
B&EMEUSSILILL 2 DUSH euHeuTL () 10% @b, Camrafler
prdlflewd LweaTL@RSS, @@ ukiEGssETar shang elenmanwt Bliraruib
Qaiiwayd () 20% (<) 40% LOHMID (@) 60%

Briefly explain various forms of dividend.

reyS@greansulien LGN 6uGeURISMET S(HEHLOTE 6l6mé@s.
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e 31, 2021 @ @plgeuambs amghsrer 5L m Himieuersser
elwrumyh wHHId Ll HL L Seurs

&G GanhHasriu(Herersg|.

afleuryb Ggrens afeurib Ggren.
- ab.
e QanLds srsmiy b afipuaner (eu) 20,00,000
pers Quingper 1,80,000 u @pd ensdmiy |
Qeuidum’ g 2 erer 60.000 epaLiGum(peT 2.00.000
QumrpLser i T
paeypp QUL s 2,60,000| | 5,00,000| |ClEweLM b, :
& Aamergpsd (o) 11,00,000| | 2-¢er AurGLsar |1,00,000
@l dnall 3,00,000] |gpmaybp 3,00,000(| 6,00,000
LMLt

a 2 pusH dewased 2,00,000
& @orgg wrub /@) 5,00,000

26,00,000 26,00,000
a fireurs Qaaaeysar 1,75,000 E/SGLDWM @b 5,00,000
el ellpuenans Qeve ser 75,000
au [blay eomub 2,50,000 _

5,00,000 5,00,000

24.

sLarmeflaafian Gem_ss wopbd @md iy apanCu ep. 1,50,000
WHOID @h. 2,00,000 @b, 26s ¢owb Ggr_&s wopbd @mnd
sLahCamT WarpCGui @, 2,00,000 WHMHID  5.2,40,000. QUGS
aphd (penpuller ppad Lefll ppagars Coameua Sriser Gem_Hs.

The Alpha company Ltd. is considering the purchase of a new
machine. Two alternative machines (A and B) have been
suggested, each having an initial cost of Rs. 4,00,000 and
requiring Rs. 20,000 as additional working capital at the end of
1st year. Earnings after taxation are expected to be as follows.

Cash inflows
Year | Machine A | Machine B
Rs. * Rs.
40,000 1,20,000
1,20,000 1,60,000
1,60,000 2,00,000
2,40,000 1,20,000
1,60,000 80,000

QUi | O || =

The company has a target of return on capital of 10% and on this
basis, you are required to compare the profitability of the
machines and state which alternative you consider financially
preferable. ’

Note : The following table gives the present value of Re. 1 due in
‘n’ number of years.

Year 1 2 3 4 5
P.V. factor@ 10% | 0.91 | 0.83 | 0.75 | 0.68 | 0.62
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Yetreu(mLd alleurmhiseT epeml Hlpieuarhigaman LpHwig.

X flpeuentd Y fmeuend Z fipieueid
auerii&él Blgieuard | smgmyent Hlmieuand | sflujbd Hlpieuard
r=15% r=10% r=5%

Ke =10% Ke =10% Ke =10%
E=e. 8 E=g. 8 E=em. 8

cumebL_iflar Lorr,e_f,]rﬂmu_lu vwetu(RSsS, meystsrens Oegiggised
&g,

(=) 25%
(<) 50% whmib
@) 75%.

aafler, @ps eeQeaunm Hnuamseaiar Frsmmew LRiGsamen
wlliemus HemsdlLayb.

23. The trading and profit and loss account of Beta Ltd. for the year
ended 315t March, 2021 is given below.
Particulars Amount Particulars Amount
Rs. Rs.
To Opening stock : By Sales (Cr) 20,00,000
Raw materials 1,80,000 By Closing stoek : .
Work-in-progress 60,000 Raw materials 2,00,000
Finished goods 2,60,000|| 5,00,000 Work-in-progress 1,00,000
To Purchases (cr) 11,00,000| |Finished goods 3,00,000|| 6,00,000
To Wages 3,00,000
To Production expenses 2,00,000
|To Gross profit c/d - 5,00,000
_ 26,00,000 . 26,00,000
To Administration expenses 1,75,000| | By Gross profit b/s 5,00,000
To Selling expenses - 75,000
To Net profit 2,50,000
5,00,000 5,00,000

The opening and closing balances of debtors were Rs. 1,50,000
and Rs. 2,00,000- respectively whereas opening and closing
creditors were Rs. 2,00,000 and Rs. 2,40,000 respectively. You
are required to ascertain the working capital requirement by
operating cycle method.
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18.

The following data have been extracted from the flnanmal
records of Dinesh Litd.

Raw materials Rs. 8 per unit
Direct labour  Rs. 4 per unit
Overheads Rs. 80,000

(a) The company sells 25,000 units at Rs. 20 p.u. All the goods
produced are sold in the market.

(b) The average storage period for raw matérials is 40 days
and finished goods it is 28 days.

(¢) Credit allowed to customers 60 days and credit given by
suppliers 70 days.

(d) Duration of production cycle is 15 days and raw materials
is issued at the beginning of each production cycle.

(e) 10% of the average working capital is kept as cash for
contmgenmes

Estimate
(i) Net operating cycle period
(i) Number of operating cycle
Garein Hneuangdlen HHY Lajsalidy @mHE Gemeud SHeuMDESET
eT(H&SILL (HeTeTen.
ep@UGILITIGLSET 6. 8 (R SIDGES)
oy 2Pl . 4 (SO HAOG5S)
CupLemeyser  ep. 80,000

(=) Ppeend 25000 Se@smer 2 Husd Celg 0@ Q6
epLImil 20 @igld shasife elpuener Celiss).

() eporiQurmlsafiar eyrefl Calliiy srebd 40 ;r,rru;;err LMD
Wy &sul L QUL &ET 28 BTl ser

(@) QuUTySMEUNNTSEEESE AMLSHESILEL ST 60 BIL&SET
WHDID FUMETWUTEHETTE) QUPEISLILHILD SL6T 70 BIL&ET

() o phusd spPHdller srebd 15 prised wHPL @G
2 pusd . sppflder  dsmisssdaid  eperidummLsar
auprisILIO\ Sl ermer. _ :

(2) &gpmadl Qeuourl@® -epogarsdedr 10% g_,r_n@&u_mua;@a;a;rrm
LIGRTLOMS Gmmasa;uu@aﬂ,mgj

@®  fsyr Quss spHé ST
() Quss sppHuder eamarisma wHLDAGHS.
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19. The following are the cash inflows and outflow of a certain 21. The following projections have been given in respect of

project. ' companies A and B ;
Years | Outflows | Inflows Particulars Company A Company B
0 1,50,000 — Volume of output and sales | 80,000 units 1,00,000 units
1 30,000 | 30,000 Variable cost per unit Rs. 4 Rs. 3
2 S%000 Fixed cost Rs. 2,40,000 Rs. 2,50,000
i 23:223 Interest burden on debt Rs. 1,20,000 Rs. 50,000
5 20,000 Selling price per unit Rs. 10 Rs. 8

On the basis of above information calculate (a) operative
leverage (b) financial leverage (c) combined leverage (d) financial
break-even point. ' '

The salvage value at the end of 5 years is Rs. 40,000. Taking thé
cut off rate as 10%.

Calculate net present val : : )
b U S AR A oppis B fipeuammsaments Qummsseiany Genaupd senflliL|ser

Year 1 2 3 4 5 Car@h&sul_(Hérerer. -
P.V. factors @ 10% | 0.909 | 0.826 | 0.751 | 0.683 | 0.621 ' aflauyraisar Flmieuerd A Bmeuard B
@m GANUGtL HiLgdar Qrrés eurey whmbd GeuelGupoid Geuaflli® wpmid eflpuemarner 80,000 1,00,000
19 6treu(HLOTD). . ST : S| OGHSHET DI (GEHET
et | euefGubprhise | ausgiser . 3@ e LI Qsway 5. 4 . 3
0 1,50,000 = Aeawrear Gswe, . 2,40,000 . 2,50,000
1 30,000 30,000 SLGIGSHTE Gl lg FEnLd - e/ 1,20,000 emh. 50,000
2 30,000 | @ sdar edpueaaer clemea ¢ 10 (. 8
3 50,000 . . ] ; . . '
CuGa o drer saeucsaiien gl ubld (=) Qewdur’h sme
4 60,000 ' <D () P smel wdp® (@) @Ehsmanss smhall 2pHDE®
5 40,000 (m) B8 apdlay Lerefl sammssl(Hs. !
5 g wigeldd ST wHiy en. 40,000 GdDHS LILF j6na 22. From the following particulars relate to three companies :
digsans 10% eran ar(Q$gl, Hlar sHCLTMsL WHliwLs sanssayb. X Ltd. Y Ltd. Z Litd.
<& 1 2 3 4 5 _ Growth Firm | Normal Firm | Declining firm
a8 e 09 ‘ r=15% r=10% r=5%
6N, srresilsdr @ 10% | 0.909 | 0.826°| 0.751 | 0.683 0.62L Ke =10% Ke =10% Ke =10%
' ' E=Rs. 8 E =Rs.8 E =Rs.8

Using Walter’s Model, calculate the value of equity share of each

PART C — (83x10=30 k
(B marks) of these companies, if the dividend payout is

Answer any THREE questions. (a) 25%
20. Describe the funetions of financial management. (b) 50% and
HE Cuoararanwuier Liaflsamer cfleur. () 175%.
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